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| EETHE
(1) BRI R E T 1| = 54, 027, 923 0
()| BERITRELS IR 5,515, 330 0
) [BESITRBETE 1| = 4,689, 717 0
@ |eAdTRETE N 80,930, 248 0
(5) [EEABPATRE T E e 13,425, 740| (61,726, 100)
(6) pRER RS RETE e 3, 258, 201 0
(7) [T B T s 9,125,960 (273, 600)
8) [ ERERITRETS 1| = 3,677,722 0
O [pumrRETSE 1| = 14,316, 876 0
(10) (BB DR R B T ol = 20,976,041 (840, 300)
1) [BEERITRETS R 3,747,923| (1,470, 000)
(D AR RS ERE TS 1| = 12,898, 921| (27,000, 000)
W) |[ETH 1| = 2,885,420]  (86,000)
5 229,476, 031| (91,396, 000)
2|FEE

B IR R 11, 803, 254

RIHEEE e 28, 078, 283
—REEES 1| = 29, 542, 432

8 69, 423, 969

3| T 298, 900, 000| (91, 396, 000)
AR 29, 890, 000

5|at 328,790, 000
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% FR ] B | %8 | B | [ e |fR
(1) PBERRRITRETE (5A - ®H)
s mEmnE |l ©77 76 of 41 | 222,638 2,003,742
sEmrRE T WOTIIR gy | aar 502 74,506
manETRE | Y 33| 47 | 926,134| 30,562,422
mamEmrE (e Or 1| 4 | 683,700 683,710
B_LEH (R 1| = 54,730
B (AR 1| = 6,954, 096
Tl MEERRE (|L1-100 | @ | 86,639 3,465,560
£—) REERRE [11-30 o @ | um201| a8, 804
RET—7 VAR ot piasa-lo 23| m | 2,344 522,712
W=7V looor 2picrc-3. 5sq sof m | 1,237 61,850
%ﬁ;f“‘ﬂbﬁ?& 600 2PNCT3c-3. 5sq 225 m 1,522 342,450
b~ Vg 1| = 1,061, 879
BT 15559 i m 67| 2,428
I 1| = 4,830,117
JT8R—Y v (As) [110,H=50.0 & 6, 547 45,829
IT8R—Y ¥ 7 (hs) |b420,H=184,5 34| & 40,564| 1,379,176
FARR—Y T (ks) 670, B=102. 5 411 & 9,445| 387,245
FANES DT ITIE 470, 1102 5 41 @ | 3,487 142,967
+TH e 315, 700
(1) /hgH 54,027, 923
2) WBERITHBETE (BN - ®H)
wmERRE [T W7 I 1| 4T | 249,574 249,574
manmaraE SOl 1| 4| sermial  senTi4
HEH (LR 1| = 7,499
HEH (EAR) 1| = 306, 048
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RETOMIE

% 5 ] = = | B |E il 5 BH|% a1
- REELEBRE (L1-100 2| M@ | 86,639 173,278
FET— 7R loiv pagsa-1c L197| m | 2,344 2,805,768
BRI =7 VR laoov apicrc-3. 50 30| m 1,237 37,110
I — 7 Vi 1| = 193, 680
B e 20, 268
(T8eAR—1 > 7 (As) |¢110,H=50,0 1] & 6, 547 6, 547
JT28R—1 > 7 (As) |$420,H=390.0 1] = 83,031 83,031
F 2 MR—1 ¥ 2 (hs)| 70, H=205. 3 2| & | 15175 30,350
ey 7 470, 1-205.3 of | 3,602 7,204
FoE ek () SGP40A(H A LA ) 144 m 3,966 571,104
st (k) [H-l4sq 93| m 917 85,281
B 1| = 110, 874
(2) /hEt 5,515,330

(3) PEBEFTRELE (BN - ®H)
o LRI RE | T 10| 47 | 230,926 2,309,260
—REEARE 520 % 850 X 600 1| & 140, 366 140, 366
BT REARE ol 18 | 20,334 81,336
B.LIAM (k) 1l = 33,348
E— )V REESEHE [11-100 10| 18 | 86,639 866,390
{(%’Gil;)}f —T VAR 00y 2pNCT20-3. Bsq 23| m 1,237 28,451
I — 7 Vi 1| = 304, 273
BRI (k) |A-5.5sa 6| m 607 3, 642
1 1| = 45, 603
AR AT Eg (Hurf) SEP3A A LIE 19| m 2,987 56,753
TR A 1| = 121,025
AV RF—VBE  |Hcm 4 = | 111,641 446,564
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% i ] B | 8 | BB fii| <& 55 ia|E %
%ﬁ/‘ﬁ‘—“)‘/ﬁ“(As) $110, H=150. 0 4 & 12,130 48,520

JT88R—1) > J'(As) |¢110,H=50.0 4 K 6, 547 26,188

F A RR—=1 > (hs)| 70, H=50. 0 4 & 6,535 26, 140

Gt e p110, #-50.0 o wAr | 3,512) 14,048

a7 7ME 570, 150, 0 4 A | 3,436 13,744

FeE e =80, H=150 13| m 8,936 116, 168

+TH SR 7,898

(3) /Mgt 4,689,717

4) MEATHRETLSE B - "1

[284a1]

wmmreE (S s| 47 | 198,481 992,405 Gap - B
CRETL T A, s| %7 | 204,480] 1,022,400 (B - B
wenmmrge A0 15| 47 | 211,066| 3,165,990

s rammrRE (oW 96| 4 | 199,652 19,166,592 (st - A |
e [P s| «r | 683,710| 3,418,550

Eﬁ?@’g?ﬁ FUBEEEE Y > &/ 1| @ | 131,051 131,051

P PHBEREE ) > &/ 1| @ | 176,325 176,325

B EIPH (AR 1| = 1,429,306

EEMTRRE |1 1| 2 [4,512,831 4,512,831 |ose - )
TN FEERRE  (LT-100 15| 1@ 83,802 1,257,030 (&M - B
-l REERRE 11100 10| @ | 86,639 866,390

E—)) NEERBE [L1-100 o6| 1 | 80,935 7,769,760 Y =1C)
E—)V N ESRHRE  |LT-200 2| & 96, 378 192, 756

WIS VEE gooy 2picrac-3. 550 3| m 986| 32,538 (P - B
By —7 VAR 600y 2pNCT2e-3. 5sa 145| m 1,237] 179,365

AR AR % (SGP) 600V EM-IE5. 5sq 15| m 663 9,945 (5M - BE)
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% b ] = = | B g ffEl$ #H[& Ta (@ %
by — 7 Vit 1| = 148, 251
SRALOBREA e ok 3| m 5,504 16,782 B - B
[iRf=ge3 4% 1l = 1,096
il R 35, 469
TR —1 > 2 (As) | 6420,H=209.5 6| & 45,418 272,508
JTSER—1 > 2 (As) | 320,H=209.5 | & 35,972 35,972
52 NR—1 > 27 (As)| # 70, H=184. 5 1 A& | 14,006 98, 042
Ty 77 E 570, 1=184.5 1| fErm | 3,577 25,039
+TH 1| = 829

[2860] /NG 44, 957, 222
[10480]
SN e R LA s| 47 | 198,481 992,405 (8 - B
s bmmirE (B0 s| 47 | 204,480 1,022,400 (8p - )
srmgmng (B, 36| 47 | 206,769| 7,443,684 (50 - B
weamrnE (MO0 s| 4 | 217,458 1,087,290
& EIFM (i EEY) 1l = 3,014
—REUEAIE  [520X850% 600 5| % | 140,366] 701,830
BEITRRE | 1| = 5,303,561 5,323,561 (2P - ER)
BT R IR 1| # [1,280,040| 1,280,040 (3P - 7)
AV RE—VERE [ o| # | 250,106] 500,212 (BP0 - BH)
AV RE—VEE  [AR 1| s | 252,000 252,000
RS AURMAEE (RPEL 4~ 5lE 8| @ | 642,301 5,139,128 (5P - BH)
)V REEZRE (11100 46| | 83,802 3,854,892 (3P - BH)
)V REESRE (11100 5| @ | 86630 433,195
BT =7V 300 pigsa-lo 805| m 1,809 1,456,245 (BP0 - BIH)
RET—7VAE ok pissq-ic 160) m 2,090 334,400
I VAR lsooy 2picrac-3, 5so 122 m 986| 120,292 (5P - BA)
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% i ] E | #1& | B fifi{ <& fH|I% K& | £
%Eﬁ;f ”7‘)}’*5% 600V 2PNCT2¢-3. 554 7| m 1,237 8,659
AR AR (SGP) 600V EM-IE5. 5sq 17l m 663 11,271 (5K - BRE)
BEHRAER (SGP) 600V EM-IE14sq 253| m 1,106 279, 818 (&mn - BR)
Iy — 7 Vgt 1| = 1,411,705
BB (B) SGPESA Eida LA 184 m 4,823| 887,432 (B - BRD)
ﬁ’ﬁ_fa’@ﬁ%ﬁ? F(38) Bk 34| m 4,584 155,856 (B3 - BA)
?Eﬂ“%ﬁ%ﬁ R (50) Bk 3| m 5,504| 16,782 (B - BA)
%’ETU BIRET \paymn . 69| m 7,59| 523,710 (B - BRD)
TNk s ARE  |SUSEE00%4005200 18| 18 | 69,360 1,248,480 (Bt - EA)
BEN/TTARTT Lyroutso 8| @ | 32634 261,072 (Fp - B
T 1| = 35,168
g 1| = 29, 232
BB e (M) SGPESA(EAA AT %) 11| m 5,162 572,982 (B - B
TRk (M) SGP65A(H AU %) 48] m 6,048 290,304 |
e o) [iidse 11| m 25| 80,475 (873 - B)
PG ER () H-14sq 48] m 917 44,016
T 1| = 171, 476

[1081] /et 35,973, 026
(4) /NGt 80, 930, 248|

(5) EERPDLTRETE (BH - EME)

wEETRE AR 2| 1| 40,059 80, 118| (1,340, 640)|t8eh - B
o ERETRE AR 1| 47 | 40,453 40,453 (670, 320) |0y - A
s bmEmrE (A 1| ar | a4,mas]  a4,7a9) (670,320
s EETRE |l 16| 41 | 15.822|  253,152| (10,725, 120)|smak - )
R (LA S 3,351
PN BB E Eﬁ;‘%";ﬂ“%@ 3| 41 | 116,510  349,530| (6,752, 580) |8 - =)
EsEEEmE (XA 1| ar | umsmel 117,572 (2,280, 360) | GER - B

E-3iF
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22 £ i B | HE | B (E il | Ha s %
P E B RS |FI-AVC-02(H) 16| 47 | 34,357  549,712| (36,013, 760)| (24t - ERD)
BIREEE AW F38  |FRPEIS00%400%150 1| & 460, 420 460, 420 (5H - B
PISCESERMTAE  |FRPAI500%4004150 1| @ | 462,443 462,443| |
B2 T 2 22 0 T Y- C- 3B 158 (3H) 1| @ | 021 173,007] (3,273, 000) | G2y - ER)
FNEFAEERE  [300%300%600 1 # 88,335 88,335 (1B - BH)
FORIARARE 30043004600 1| = | 90,28 90,289

BIFRMAEARRE  |1250%650%600 2| # 555,394 1,110,788 (BmM - BHE)
I —=7 VAR aoov mi-Ch14sa-2c 94| m 1,864 175,216 (3P - EAD)
%@E)’f —7VAB 600y B-CR14s0-2c 208 m 1,806| 377,454 (o - BH)
f(f—;}?g)’f —TVAEB 00y Bu-cR14sq 2 4 m 1, 864 7,456 B - BH)
I —T MR so0v pi-Ch1dsa-2c o| m 1,808 16,254 (51 - BRD)
@’%@;\j’mg& 600V EBM-CE14sq-2c 1l m 1,806| 19,866 (B - B
g — VAR 60y 3pNCT5. Bsq-de 2| m 2,002| 84,084 (B - B
R — 7V g00v 3pNCT5. Bsa-de 458 m 1,040 888,520 (91 - B
D7 VIE aoov 3mvers, ssa-te 12| m 1,904 22,848 (5P - BRD)
EET =T VAR ooy 3ewcs. 5sq-de %| m 1,845 177,120 (551 - E)
oo — VA 600y 3NCT5. 5sq-de 4 m 1,895 7,580 (8P - BRD)
RIS =7 VAR lsoor 3avers. ssa-te o| m 1,836| 16,524 (44 - B)
ﬁ’fujfj;;)‘”ﬁﬂ 600V 3PNCTS. 5sq-4c 1| m 1,732 19, 052 (851 - BE)
o —7 VAR goov m-corsq-2c 571 m 790 45,030 (Bp - BRD)
RS AR 600V EM-CEE2c-25q A 1,227 4,908

Ay =7 VAR T R 16| A& | 124,126 1,986,016 Cr)
f(ﬁ%ﬁu&a;-j‘)m%% %ﬁ%@ﬁ/ﬁ%ﬁ?-’% 1| & | 139,429] 139,429 (5w - BRE)
%@gg‘j‘”ﬁ% AP 1| & | 163,015 163,015 (B - B
HES VR DI RER 1| & | 458,459 458,459 Gae - BAD)
?%g“&’/;“j’mﬂ EHAPORITIE 1| & | 742,108 742,108

I e 8, 964

SR L > EREHHFOHEK 1| m 4,442| 48,862 5t - B
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% 5 i = WE | BAL B fili| <& HE|X & |4% %
SR & > BAREMRFE3)PiK 11| m 7,344 80, 784 (B4 - BRI
o 7as% (B ) SGP32A  FAa LA 47| m 2,759 1,233,273 (Bt - B
Ao 7rsg () SGPE5A  E1da UfE 447 m 4,997| 2,233,659 =15
B (a0 AY) |medo 6| m 1,186 7,116 CIRY=10)
EEARER (20 ) |FEPAO 12| m 1,149 13,788 (351 - BI)
EEHmK (21 ) |FEP6S 6 m 1,590 9,540 (5w - B
B (2T HY) PGS 12 m 1,539 18, 468 (55t - B
Tl A (Hrh) SGPB0A 3 LA 75| m 5,309] 398,175 (B - BA)
o Aasg (Heh) SGPBOA  F3da LA 10| m 6,195 61, 950
PR R H-14sq 47 m 725 34,075 (5m - BfE)
B H-14sq 10| m 917 9,170
[Bh=ti357) 1] & 18, 904
+T% 1| = 74,134
(5) /hEt 13,425, 740| (61,726, 100)

J
(6) |VEERFMMIBRELSE (BHBH - ®’H)
mammmrge  |BLOWE 2| 47 | 404,430 808,878
&L (AR I = 326, 400
T NEESRHE |LT-60 2| 1@ 78,558| 157,116
Eggg‘f;;f —IVAR layy pigsq-le 256| m 2,09| 535,040
{(%g;;f —7VARR 600y apNCT2c-3. 5sq 17| m 1,237 144,729
r—T7 Vi 1| = 130, 867
BlEnsy (AC&YE)  |SGP32A AU 48| m 2,987 143,376
B 1] =& 61,538y
JTEAR—Y v 2 (As) |#270,H=190.5 2l & 25,178 50, 356
F 2 R AR—1 ¥ 2 (hs)| 70, H=170. 0 2| & 13,178 26, 356
B 77§10, 82170.0 o| A | 3,568 7,136
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B 4 ] B | BE | B (B il L ol
TEE (FER)  [U=80, 1=285.5 16| m 15,646] 250,336
EE GRER) W=443, H=285. 5, =300 2| AT | 24,185 48,370
T (Vans—)  |i=80,H=235.5 271 m 13,155 355,185
g 1| & 20, 268
+TH 1 =& 192, 250
(6) /hgt 3,258, 201

() |EtITRETE (BA - 1H)
mamimamraE (ML 6| 4T | 365,071 2,190,426
EARE D A () 6| 8 | 82,368 494,208  (273,600)
& LA (HEARD) 1 &K 1,066, 224
E—)l REFERBE |L1-60 6| 18 | 78,558 471,348
%{}i—?)’f —INWAR | pwssq-lc 214| m 2,00| 447, 260
%{%)’7 —INAR s00v 2pNCT2c-3. 5sq 144 m 1,237 178,128
I — 7 Vi 1| = 248, 070
Ny Rbk—)VERE  |BEY 2| & 204, 746 409,492
BoEAER () SGPE5A  EAUA 107| m 6,048 647,136
B Amak (Bh%8) SGP32A HAUE 81| m 2,987 241,947
B () [B-14sq 107| m 917 98,119
[T 1] =& 276, 363
HEHER—) VI (As) |p270,H=355.5 6] & 44, 905 269, 430
JT82R—1 > ' (As) | $270,H=260.5 S 33,410 200, 460
52 M=) 22 (k)| 870, 1240, 0 6| & | 1m.004 102,564
G 7V 270, B=240.0 6| giAT | 7,102] 42,612
Do 7 RE 10, H=240.0 6| wAT | 3628 21,768
mEE GFER) W=80, H=355. 5 5| m 19, 106 95, 530
EEE GREE) W=150, H=355. 5 21l m 34,747 729,687
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& i (] 2 | B8 | Bu | <& |2 fa|fE
EEW (V25— [IE150, H=305.5 200 m | 30,099 601,980
il 1| & 50, 804
N 1S 232, 404
(1) /NGt 9,125,960 (273, 600)

(8) PEERERIRETF (BM - ®M)
1 ERERIRE (e 2| 4T | 850,060 1,700,120

BHE RGLSS 2| = | 180,0m 360,154
E— ) REERRE [11-60 of @ | 78,558 157,116
BET—7VER i pieso-le 189) m | 2,00 395,010
154 T VAR 0oy 2pNeT2c-3, 550 3| m 1,237 3,711
o — T Vit 1| = 130, 867
EoE A () SGPE5A FIa LA 94 m 5,162 485,228
BEMRAER (Hirk)  [H-Ldso %| m 07| 86,198
A R VEE (i o| % | 81,092 162,184
T 1| = 20, 268
+TH 1| = 176, 866
®) g 3,677,722

(9) |FERITHRELE (BH - wH)
T 29| 41 | 97,593| 2,830,197
S ERERTRE | ) o| 47 | 20,654 561,308
EARBEITRE (15, By v o| 41| aon,211| 92,422
BEDTREARE  |0v2U— A2 8| & | 20,334 162,672
B (L) | = 232, 487
£ NEERRE (1160 33| @ | 78558 2,592,414
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% i) i = g | BAL B fifi| & | | %
BET—TVER o pisso-1c 96| m | 2,09 1,893,540

W77 VR ooow opicrac-3. 550 193| m | 1,237 238,741

i — T VG 1| = 1,539, 889
EEfHR(EETHE) [SP2A AhUE 41| m 2,987 122,467
REARHA)  [Se32A BAUN 134 m | 3,467 464,578
MAERER) S BN 8| m | 6048 229,82

BtigAER () |i-l4sq 173 m 917| 158,641

e ] | = 244, 848
JTER—Y V7 (As) |6110,H=50.0 si| & | 6547] 202,987

52 hR— 1 ¥ 7 (As) $70, 850.0 31| & 6,535 202,585
Gmg” 7 7E | § 10, 850.0 31| @mF | 3,436 106,516

B (V30 8—) (80, =100 af m | 6| 264,245

Ay RE—LRE 8| £ | 81,00 648,736

e 1| = 197,613

+TH 1| & 440,196

(9) /Ngt 14,316, 876

(10)[FERR P ORTHRETE (5K - /M)

manmmrgE LAY af 47| 325,901 1,303,604
mpmmmireE  |BLANE0 (00 o| 41| 4s5,603]  91,208] (560, 200)
mamEgreE SN (00) 1| 47| 4s,603)  45,603] (280, 100)
manEmrwE (P00 21| 4 | 325,901 6,843,921
mpmmraE DL 7| 41| 325,901 2,281,307

LY (B 1| = 5,712, 000

- NEERBE (1120 3| @ | 96378 289,134

TV NEERBE [L1-300 1| M8 | 117,201 117,201

RET—7 MR |y Pigsa-le 8 m | 1,800 141,102 (a7t - 1)
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% fii ] = e | BAL|E fii| <& £H | fE £
E'%;G%)’T —INAR 5y pagsq-le 782 m 2,090 1,634, 380|
4(%%;7 —7 VAT 600y apNCT20-3, Bsa 406| m 1,237 502,222
b — T VA RES 583, 143
KT88R— 1 > 2 (As) | 270, H=190. 5 350 & 17,518 613,130
F 2 b A=Y ¥ 2 (As)| 870, H170.0 35| & 9,623| 336,805
G777 g0, 8170.0 3| AR | 3,568 124,880
HIE 1| = 354, 690
+TH e 1,713
(10) /NGt 20, 976, 041 (840, 300)
(1D|FEEAITHRELE (BN - 7H)
 EAUERITRE | 1| 4 | 16422 16,422
i LEBTRE | 1| ar | 23,345] 23,345
LR TRE ([ AU G 1| 7 | 101,453] 101,453 (1,470, 000)
HRPYT FARE s 1| # | 270,402] 270,402
SR LR B e o| % | sar,a03] 64,086
-l REESRHE [11-200 1| @ | 96378] 96,378
ol REFERBE [17-300 o M | 117,201 234,402
E”“g(%)’f —IVAR g pNgsq-ic 415 m 2,09| 867,350
‘(%g';f)}f —7VAR 500y apcTac-3. 5s 6| m 1,237 7,422
I — 7 g 1| = 217, 321
R (HuR) SGPESA Eia LA 124| m 5,206 645, 544
BEARARRR (trp)  [H-14sq 124 m 917| 113,708
Ny RA—VRE  |IDE 3| = | 81,00 243,276
+T® RS 215,914
(1) /hat 3,747,923| (1,470, 000)

11




MRZERRERRTRET OMTE

% g i E | & | B fifi| & % ¥\ 0@ Z
(1) EAARRITEREBERETE (BN - &)
ERSERE B8 () 8| & | 252,767| 2,022,136| (10,383, 600)
EREERE Sk (48) of & | 52,351 104,702 (9,565 000)
B ERE B (8 1| & | 31,389 31,380 (7,051, 400)|¢msk - mRD)
{(&gﬁy’fb“)f"’ﬁ% 600V EM-CE14sq-2c 62| m 1,533| 95,046 ) - BM)
WEET =7 VAR 600y mi-ce1asa-2c 686| m 1,789| 1,227, 254 (Bpy - BRY)
QIS VER ooy miceleso2e | 1,605 m 2,217 3,558, 285
%ﬁf — VAR oppy-s 0, onn-3p 51| m 1,502 717,992
B0V ez B m | 1356 47,460 |osan - e
LTV sz 686| m 1,578 1,082,508 (P - BR)
rrae TR |g9/125-3¢ 1,605 m 1,047| 3,124,935
Ha— NAERE s US04 5 6| & 3,087 18,522 (81 - JER)
S0 KA fide FomsCaA2 6| & | 3,198 19,188
S — 7 VMRS 10T of i | 124,208 248, 416 (B - B
Sl — T VBRI (1000 | | 45,200 45,292 5 - B
S —F VBRI (1080 3| mimr | 65,952 197,856
LT TTVEERR ypir 1| wm | 15,057 15,087
b — Vi 1| = 62, 051
e SPLLT S| | 8,776 280,832
(12) /hat 12, 898, 921| (27,000, 000)
(13)|WETE (BW - EH)

[ERRFB B RIRITHIE]
DEERBITRE 31O 0] 47| 42%| 42,360
%ﬁ%ﬁg&ﬂ%ﬁf EH S40/R) 24| 4T 4,236 101,664
o REESEHE |00 54| fE 2,873| 155,142
T REESERE 1730 2| 1@ 2,873 5,746

(HEA)
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% i ] B | B8 | B i #H fa|E %
BT BE ok pgsa-1e 42| m 172 24,424
BT GBE feoov 2picT2e-3. 550 920| m 136 125,120
FBHE (EF) FEP65 72| m 21 15,192
[VEAERRAT - SEERTHE]
i(%%%ﬁm% gf_{gg}%ﬁ) 1| 4,236 4,236
i(%i&%*%‘é’z‘ﬂﬁf Eﬁﬁ%ﬂ (/wg) 1| 10, 568 10, 568
i(f%%*%ﬁm #E g:%g g 10| 4T 4,236 42, 360
FHRSEIRRE (48) |FH-C 1| 1@ 3,096 3,096|  (86,000)
2%—% REESRE |10 1| @ 2,873 2,873
2%_% REESEBE |1 500 10| {@ 2,873 28,730
?ﬁ;}ﬂ; REESREE (11500 1| @ 2,873 2,873
%g)’f(%%"%ﬁ 600V 2PNCT2¢-3. 5 24| m 171 4,104
BT GBS laoov 2pNeTac-3. 5sa 375| m 136| 51,000
%@zﬁﬁ &) A-5. 554 128 m 100 12, 800
(28403 AKTHIE]
i(%%*%%ﬂ%ﬁ% gﬁggg"” 10| 4 2,976 29, 760 (57 - B0
i(%%%%m% gﬂggg‘”) 10| i 2,976 29, 760
i(ﬂgﬁi %*?%m% By 3L 9% N 2,976| 285,696 (Bt - B
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